PERCENTAGES WITH A CALCULATOR

1.   Hassan scores 40 out of 80 in a test.                
      Kate scores 40% in the same test.

      Who has the higher score?      


      Circle Hassan or Kate.
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        Hassan  /  Kate
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Explain how 
you know.
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2.   Write in the missing numbers.3

30%  of  60  is   [image: image3.wmf]
30% of   [image: image4.wmf]   is 60
3.   Calculate 60% of 765.
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250 000 people visited a theme park in one year.


15% of the people visited in April and


40% of the people visited in August.


How many people visited the park in the rest of the year?
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